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00000000000 IPOO0OOOOOOODOOO /shin/ifeonfigDD 0000 0O00OOOOOOO
000000000000 000D00000Oetho0 inet addr:IPO00OO00OOODOOOO0O IPODO
000g192.169.1.61 0000

ethO Link encap:Ethernet HWaddr 00:20:ED:5B:3E:F2
inet addr:192.168.1.61 Bcast:192.168.1.255 Mask:255.255.255.0
inet6 addr: fe80::220:edff:febb:3ef2/64 Scope:Link
UP BROADCAST RUNNING MULTICAST MTU:1500 Metric:1
RX packets:6220 errors:0 dropped:0 overruns:0 frame:0
TX packets:5403 errors:0 dropped:0 overruns:0 carrier:0
collisions:0 txqueuelen:1000
RX bytes:6446053 (6.1 MiB) TX bytes:627205 (612.5 KiB)

lo Link encap:Local Loopback
inet addr:127.0.0.1 Mask:255.0.0.0
inet6 addr: ::1/128 Scope:Host
UP LOOPBACK RUNNING MTU:16436 Metric:1
RX packets:2507 errors:0 dropped:0 overruns:0 frame:0
TX packets:2507 errors:0 dropped:0 overruns:0 carrier:0
collisions:0 txqueuelen:0
RX bytes:3116664 (2.9 MiB) TX bytes:3116664 (2.9 MiB)
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#include <stdio.h>
#include <string.h>
#include <sys/types.h>
#include <sys/socket.h>
#include <netinet/in.h>
#include <arpa/inet.h>

int main(int argc, char xargv([])

{
struct sockaddr_in server;
char message[80], ip_-address[16],m[80];
int t;

strepy (ip-address ,argv [1]);

memset ((char *) &server, 0, sizeof(server));
server.sin_family=AF_INET;

server.sin_port = htons(5320);

server .sin_addr.s_addr=inet_addr (ip-address);

t=socket (AFINET, SOCKSTREAM, 0);

connect (t, (struct sockaddr x) &server, sizeof(server));

printf(”message:”);
fgets (message, 80, stdin);
send (t, message, strlen(message),0);

close (t);

return 0;
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#include <stdio.h>
#include <string.h>
#include <sys/types.h>
#include <sys/socket.h>
#include <sys/socket.h>
#include <netinet/in.h>
#include <arpa/inet.h>

int main(void)
{
struct sockaddr_in client , server;
char buf[80];
int t, r, k;
t=socket (AF_INET, SOCKSTREAM, 0);
memset ((char *) &server , 0, sizeof(server));
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server .sin_family=AF_INET;

server .sin_addr.s_addr = htonl (INADDRANY);
server .sin_port = htons(5320);

bind (t, (struct sockaddr *) &server, sizeof(server));
k=sizeof(client );
listen (t, 1);

while (1){
r=accept(t, (struct sockaddr x*) &client , &k);
recv(r, buf, 80, 0);
printf (”%s” ,buf);
memset (buf,0,80);
}

close (t);
close(r);

return 0;
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./cli 192.168.1.51
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